HAS

THE SURVEYOR MARES

——rar

S
st e 0 1 4 €SO0 CHURCH RD(s4 17 0,
( sy

— e —
> (/ ——— e o ————
r— T

Lk ,J
——

THE SURVEYOR FURTHER DOCS NOT WARRANT THAT THC UNDERGROUND UTILITIES SHOWN ARE i THE LXACT LOCATION INGICATED, _ALTHOUGH
THE SURVEYOR DOES CERTIFY THAT TWEY ARE LOCATED AS ACCURATELY AS POSSIBLE FROM INFORMATION AVAILABLE, THE S

O GUARANTEES TWAT Tné UNDERGROUND UTILITIES SNOAN COMPRISE ALL SUCH UTILTIES N THE AREA, DITHER IN=SERWCE CR ABAWDONEL.
NOT PHYSCALLY LOCATED THE UNDERGROUND UTILK

THE UNDERCROUND UTILITIES SOWN WAVE BEEN LOCATED FROM FIELD SURVEY INFORMATION AND EXSTING RECORDS.

PROPOSED LEGEND

:l = PROPOSED ASPHALT (PARKING LOT)

[[7] - Proposen concrere: soewn

[Z77] = proposen veavy outy aseraLr
= COMCRETE CURS & CUTTER (F4)

= = CONCRETE CURB & CUTTER
SPILLOUT (MODWIED F4)

= ALTERNATE "A1" ASPHALT

STRIPING NOTES

1. THERE IS NO INCREASE TO TOTAL
IMPERVMOUS AREA FOR THIS PROJECT.

2. ALL PARKING LOT STRIPING SHALL BE
YELLOW WATERBORNE PANT.

3. ALL ADA STALL PAMT STRIPING SHALL
BE BLUE WATERBORNE PANT.

. ALL CROSSWALK STRIPING SHALL BE
WHITE WATERBORNE PAINT.

NOTES

NOTE A = CONCRETE INTEGRAL CURA & WALK TO CONCRETE
FLUSH

CURB & WALK.
NOTE B = CONCRETE BARRIER CURB (MOOT F4)
NOTE G = CONCRETE SPILLOUT CURB (MDOT MOOUIED F4)

T
g2 5 8,
g5 2 288
HEg Eg 77
24¢ ¥k
ag

20w et
PR EH
28% =3800
5288 1y
0§ cg8
5% 8 zR2
537 %

WASHTENAW
ENGINEERING

WASHTENAWENGINEERING.COM

b
0
$8a
3Rs¥e
T OSsds
3303
ZOQE*‘?

NOTE D = STANDARD 4" COMCRETE SIDEWALK
NOTE E = CONCRETE INTEGRAL CURD & WALK
NOTE F = CONCRETE FLUSH CURB & WALK
NOTE G = STANDARD ASPHALT PAVEMENT
NOTE H = HEAVY DUTY ASPHALT PAVEMENT

WASHTENAW COUNTY SOIL SURVEY CLASSIFICATION
CoB - CONOVER LOAM, 0 TO 4 PERCENT SLOPES
MmB- MiaMI LOAM, 2 TO 6 PERCENT SLOPES
MmC- MIAMI LOAM, & TO 12 PERCENT SLOPES

+ + s+« + — SOILS BOUNDARY

SOILS ARE BASED ON USDA SOIL SURVEY

R
'%r{.fe'v( ;’S

h
178 ]

FEN {5

LN IS e

A
SRR
o

Ladai s arfy
L Eazich)

SITE PLAN

COPYRIGHT & 204 WASHTENAW ENGINCERING COMPANY, INC.
'NO REPRODUCTION SHALL BE MADE WITHOUT PRIOR WRITTEN

A7’

HOTE F 35¢ &)

AV
Suit ey vt "I ' 7 OF WASHTENAW COUNTY.
5 5 S é} N hie? ] = ““"”‘ -é _/e( 54y = SOIL BORING LOCATION
\ \ .A{{. ] 7 2 o A
N\ ; iy ) 4 & ;, J ,c-" f 1'-0°x1'-6" CO.08" ALUMNUY
X ’(E'i ’1'& o L3 » 3 -t ACCESSBLE PARKING SIGN
% Aty % ; NG 4 oz . jot | |
V2 eh e \ 2 f 3 @

BOLTS, NUTS & WASHERS

(HOTE A 70¢ SF]

~—___1'-0"x6" CO08™ ALUMNUM

SHEET |

VAN ACCESSIBLE SIGH
BOLT TO STEEL

| b,,@
h —|J

/——2' DIA. STEEL TUBE

AN ASBOR,

; % 3/6° CADUUM PLATED
‘& p: Pk BDLTS, NUTS & WASHERS
Lol 2 NOTE A INSTALL IN VAN
NoTE cl/ 2 2, 7o 14 ?‘\ [Foc__] . ACCESSBLE SPACE ONLY
[ sv o 1514 LF| S XA e P o
- = vt s ) 5 u-13-01-309-007 R7-BA :
£ g = e o SANT WEHOLAS CREER CRIHOOOX 6"x12
gk At : o
m I 3109 500 CHUS
) A

XSITING AREA SURFACE

3

S

5E

Eggséé b
3E5E0S « (=]
sEleds -

gBre (=]
[N ]

5 -

b o2=
gg o5 AEE

TEEN 5= ©
ﬁ’é;g § FOOTING Ol e o
R S | TN

fieiget N Z 0 2
EPPLER TR e E %l O
HE‘g%E;g' W * E w

Y an 5

il SR 5 96
28858 e w

i ghhgé ¥

s¥Rsh

e ggggg PRI HANDICAP PARKING SIGN DETAIL &

Ega..g " HOT 10 SCALE -

o gs§§ g

H3 a8 u

ugggs‘ﬁ i

55550

535394 4 |z |2
ERee §ig 2 HNEIRE
R HH * e lslslE
%5%5;35 Know whats below. il
saEnd sle|x|s
Rl S Call before youdig. | 3 <2 2|53 2
FEETM 2\ . MRS HEE
5 §§g“g R R HENE
L B e
NI e
LEGEND 5 IC = TP OF CURB ; = EXISTING STORM BENCHMARK DUl=10P CF SiLY CORNER CF CONCAEIE LIGHIPOLE BASE, 50UTH & | REVISIONS SCALE 50 - i

a = LIGHT POLE ,.::1: i,;g; ELEV. r‘fv = r&,: a&;ﬂu = EJrlé%g @iﬁﬁ%ﬂer PARKING 10T, ELEV=1029.17 (NAVD B8). — R - E M é| Ki 6
@, = UNUTY POLE of = o = MANH — ; = o 15 0 " /
- = GUY ANCHOR = GAJE VALVE O = CATCHBASWN BU2=FiSHED FLOOR ELEVATION TO THE SANCIUARY, ELEV=1027.33 (NAVD E8). s u PREPARED BY 2 W
e el Esmg dfome = = —_— s AP A B e




GENERAL NOTES

—1/4" MiN WIDE SAW CUT 25%%%

9.

10.

11.

SPREAD FOOTINGS ARE DESIGNED TO BEAR ON UNDISTURBED SOIL OR SELECT EMGINEERED
FiLl. WiTH A MiNIMUM BEARING CAPACITY OF 1500 PSF. STRIP FOOTINGS AND GRADE BEAMS
ARE DESIGNED TO BEAR ON MATERIAL WITH A MINIMUM BEARING CAPACITY OF 1500 PSF,
UNSUITABLE SOIL BELOW THE FOUNDATIONS SHALL BE UNDERCUT AND REPLACED WITH
SELECT ENGINEERED FILI. COMPACTED AS REQUIRED BY THE SOILS ENGINEER TO LIMIT
SETTLEMENT TO A MAXIMUM QF 1 INCH.

EXPOSED CONCRETE SHALL HAVE A MINIMUM 28 DAY COMPRESSIVE STRENGTH OF 3000 PSI

ALL OTHER CONCRETE SHALL HAVE A MINIMUM COMPRESSIVE STRENGTH OF 3000 PSI.

REINFORCING SHALL CONFORM TO ASTM AG15 GRADE 60.

ALL REINFORCING SIZE #3 REBAR AND SMALLER SHALL HAVE 60 KSi MIN. YIELD.
ALL REINFORCING SIZE #4 REBAR AND LARGER SHALL HAVE 60 KS| MIN. YIELD.
WELDED WiRE FABRIC (WWF) SHALL CONFORM TO ASTM A1064.

NOT USED

CONCRETE WHICH IS EXPOSED TO WEATHER SHALL BE AIR ENTRAINED TO PROVIDE AN AR
CONTENT BETWEEN 5% AND 67.
REINFORCEMENT LAP SPLICES SHALL BE 36" UNLESS OTHERWISE INDICATED.

PROVIDE THREE (3) INCHES OF CONCRETE COVER OVER REINFORCEMENT WHERE CONCRETE
IS PLACED ON GROUND.

PROVIDE 2" OF COVER ELSEWHERE UNLESS CTHERWISE SHOWN.

CONCRETE WORK SHALL CONFORM TO APPLICABLE PROVISIONS OF ACl 318 AND ACI 301.

PEASTIC USED AS A VAPOR RETARDER/BARRIER SHALL COMPLY WITH ASTM E1745. PLASTIC
INSTALLATION SHALL COMPLY WITH ASTM E1643.

THE ¥OP OF THE FOUNDATION SHALL BE SQUARE, LEVEL, AND SMOOTH.

12. ANY BACKFILL AS REQUIRED SHALL BE FREE DRAINING GRANULAR MATERIALS.

14.
15,

16.
17.
18.
19,

. CONTRACTOR SHALL PROOF ROLL NATURAL SOR. AND/OR COMPACTED FIEL BASE FOR SLAB,

PRIOR TO POURING, WiTH A LOADED DUMP TRUCK MAKING SUFFICIENT PASSES 7O
ASCERTAIN THAT THE ENTIRE SLAB AREA DOES NOT PUMP. IF PUMP OCCURS, CUT OUT
EXISTING SOIL/FILL AS REQUIRED AND FILL WITH APPROVED FILL MATERIAL, THEN PROOF
ROLL. AREA AGAIN,

ANCHOR DESIGN IS BASED UPON THE USE OF 3000 PSI CONCRETE.

THE BOTTOM OF ALL EXTERIOR FOOTINGS SHALL BE PLACED A MINIMUM OF 3'-0" BELOW
THE LOWEST ADJACENT FINISHED GRADE.

SEE TRUSTEEL DRAWINGS FOR BASE CHANMNEL AND COLUMN ATTACHMENT DETAILS.
SOIL ALLOWABLES ARE TAKEN FROM TABLE %806.2 SOIL CLASS 5.

CONTRACTION JOINTS: SLAB CONTRACTION JOINTS ARE REQUIRED., SPACE CONYRACTION
JOINTS AT 2¢'-0" MAXIMUM ON CENTER. JOINTS SHALL BE CUT TO 25% OF THE DEPTH OF
SLAB WITHIN 412 HOURS AFTER FINISHING THE CONCRETE. CUTS ARE NOT YO SEVER THE

SLAB REINFORCING STEEL.
CUTS SHOULD OCCUR AT ALL COLUMN CENTERLINES N BOFH DIRECTIONS., CUTS SHALL BE

STRAIGHT LINES, INCORPORATE REENTRANT POINTS, AND NOT FOR 71'S,
THE DESIGNER IS NOT RESPONSIBLE FOR SLAB CRACKING.

. ALTERMATE SLAB_REINFORCEMENT:
FIBER REINFORCED CONCRETE SHALL BE AN ACCEPTABLE ALTERNATIVE TO WELDED WIRE
IN SLABS, IF FIBER MESH IS USED, ARD FIBER PER CUBIC YARD Of CONCRETE ACCORBING
TO MANUFACTURER'S RECOMMENDATIONS.

ALL FOOTINGS AND SLAB ARE TO BE TREATED WITH A TERMITE CONTROL PESFICIDE AS REGUIRED.

OF SLAB THICKNESS MIN 1" ALL
CONTROL JOINTS TO BE MAX
SPACING AT 20'—-07 ON CENTER
REF GEN. NOTE 18.

— 4” CONCRETE SLAB WITH 6X6 W1.4/W1.4 WWF
REINFORCING OVER 10 MIL VAPOR RETARDER iF
REQUIRED BY LOCAL AUTHORITIES OR IF MOISTURE
MOVING THROUGH THE StAB WOULD BE DETRIMENTAL
OVER 4" FREE DRAINING GRANULAR MATERIAL

r UNDISTURBED SQIl. OR SELECT
ENGIMEERED FILL (REF.
GENERAL NOTE 1 & 13)

THE

CONTRACTION JOINT

TYP. SLAB SECTION

) ., ™
11/2" —F > 9 1/2" - =
DRAWING SCHEDULE . - 3 A -
3% MAX ——
SHEET NO. DESCRIPTION BUILDING NO EE F N ¢ F'“‘ § N
. . 4 _E P o P v 9.a K
GENERAL NOTES, DRAWING SCHEDULE, / E]
F-1 SECTIONS AND DETAILS N/A % 2|: 5 . >\</\\- :
= Z = Z
F—1 FOUNDATION BUILDING 25-80259 N = % = ///> vb
g LI N
T w 'l“ L X
: 5 Jr et
R A it e ) (1) #4 CONT. TOP SIS (1) #4 CONT. TOP
8" COMPACTED GRAVEL {1) #4 CONT. BOTEOM  gv oOMPACTED GRAVEL {1) #4 CONT. BOYTOM
OR CRUSHED STONE o OR CRUSHED STONE o 1
/ A\ PERIMETER BEAM / B\ PERIMETER BEAM
\F-1/PANEL NOTCH ¥/*="-0 F-1/DOOR NOTCH ¥/*=1"-0
5 753" OUT/OUT CONCRETE N
~ ~
: a4 112" 1 1/2" e :
[T T T T T T T e e e e T T T T e e e -
i % WALL NOTCH TYPICAL |
| REF MANF. DRAWING FOR n |
DETAILS, 1-1/2" X t—1/2"
LA F-1 711
5 | \&-V/ /
WALL NOTCH TYPICAL WALL NOTCH TYPICAL
EE l/_ REF MANF. DRAWING FOR REF MANF. DRAWING FOR |
o " a*
o8 | DETAILS, 1-1/2" X 1-1/2 DETALLS, t—1/2" X 1—1/2" !
78 | |
o
N | |
DGOR NOTCH TYPICAL
. | REF MANF. DRAWING FOR ) I .
‘?_i [ ﬂ DETAILS, ©9-1/2" X 1-1/2 | \:\
o ; F1 | *
. L ] [ |
"l )
1 FOUNDATION PLAN BUILDING 25-80259 112 g
REFERENCE ANCHOR BOLT PLAN FOR ANCHOR BOLT PLACEMENT 1/18"=1"-0"

|- WALTER LEWIS
PE,SE.

=E” 50 DAK AVE., #402

~ WAYNESBORO, VA 22980
O (239)-565-1849 F:(239)-451-6124
waltlewispe@gmail.com

BUILDING CODE:
2015 INTERNATIONAL
BUILDING CODE

SLAB LIVE LOAD:
125 PSF

~ o
3 Q|8
zgm W 5
0=< O~
9I5| og=
52 S A =
292165
< 208
W=7 <5
THELE
S8 | ez
E"" h

; o)
Q FOR CGNSTRUCTION OT/1612025

RN T

LY LD
0® ; ”’"b bile, o

ENGINEER

LA % Mo, ;

%0, 6201025482 27
o® o

(N p"o...t‘ ‘\Vm‘s
R O SO

q,mflE“S‘?‘“,o

07/15/2025

“Tha Prolosslonal Enginears seat a%ived lo this shoet sppbas oly 1o the
matailak and ftems shown on (4s shost Al dranings, of ethet documents
nek eatibilng this seai shall nol b cansiderad prepared by s engnear,
and this engingsr mapressly dischaims any and o sespenviiblty fof such
plan. draviing. o documens aot ehbiing his 3ot

JOB NO. w25

DRAWING DATE Q7512026

SCALE AS SHOWN

GENERAL NOTES, SCHEDULES
AND DETAILS

F-1




EIm
STRUCTURAL NOTES R R
SUILDER / CONTRACTOR IS RESPONSIELE FOR EMSURING THAT PUMHS ANO SPECIRCANGHS COWPLY WITH 78’07 STEEL DIMENSIOM =E
appLcAB(E RECUREVENTS OF ANY GOVERNHG BULDING AUTHORTY. >
WETAL BUADNG STRUCTURE DESKNED PER THE FOLLOWIKG LOADING: 2
a3
wuu 132 SHHT EXPOSURE € wipLOMD &lin
ROOF LVE LOAD: 20 PSF ROOF UVE L0AD - _
SESUIC DESIGH CATEGORY (SBC) D / SEISWC COEFFICIENT: 0.15 é‘] g
C’me’s SC"WD o g:sgs(gujxv;?ogﬁmsr% Lo - oo - (UF-2 T2 Q-2 (LRiY-2- (o2 (-2 &
GOLLATERAL LOAD: 0.5 PSP (MAX) COLLATERAL LOAD i fussm =)
DESIGH LOADS DESIRATED WITHIN COMTRAGT ANG: DRAWNGS DO NOT ALLCW FOR ANY TVPE OF | 3 3 =]
SUSPINOED SYSTE (EC, UGS, MSULKTOR, DLCT WORC PLRJLG, F1G.) CREATER TILOL THE i g b 58
LOAD SHOWH. SUSFENSION OF ANY LOAD IHOUC TEW GREATER THAM 0.3 PSE ol ! & & =16
B Bty UNLESS A CO g LVE/SROW LOAGS CAN 2 = . X E &8
BE PERWITED B COUE. > a 1 T & al=
by (4 0
DESIGN, AND SPECIRCATION OF BASE SIEEL 0 GONCRETE SLAg ANCHORNG 15 NOT THE RESPONSIRLAY £ i 3 Yy E o Bl
OF THE BULDING MWANUFACTURER. WEDGE AHCHORS SUPFUED WITH THE BURDING wl [ £ \2/ B o2
SUITABLE FOR LOST SELE STORAGE APPLICATIGNS KOWEVER, THE FIHAL FOIBAOY, BEBCH (o{p'ru al i 7 - &
SIRENGTH, NiX. EIC. ) WAL DETERMINE AGTUAL ANCHOR REQUIREMENTS. I " i wl B a
BUILDING MAHUFACTUREA ASSUMES HO RESPONSBILITY FOR CONCRETE SLAB FOUNDATION DESIGH, ! Jd E N .
THIKHESS, WATERWLS, SME SO:L COWDITIONS OR OTHER CONGRETE/WWSOHRY CONSTRUCTION. | 5] £ ] =3
ALL STRUGTURAL CONNECTIONS ARE TO BE NADE PER FASTENIHG DETALS PRESENTED REREN, ! g 2 g@ QB 3
TR S NG oL SeleT 5 ToiaLiED T VERTEAL, PLUWE KD HOREONHLY - o o - g |whIEPEYE
i a ()20’ )20/’ (H2or -# {pst-4 ﬁ 3 §§'§mﬂ .ts 2d
& 4 é
THE BULDING MANUFACTURER ANO THE PROFESSIDNAL ENGINEER SEAUNG THESE DRAWNGS ARE HOT 2 2 MZE_%EE §
THE PROFESSONAL ENGINEER OF MECORG FOR THE IMTIRE PROUECT. THE PROFESSIONAL ERGHIEER'S £ z°gc‘ 258
SEAL PERUNS ONLY 10 IKE STRUCTURAL DESIGN OF THE WETAL DUADIG STSTEV, [ DOZS HOT APPLY o&rRcEIEY,
B TOUNARON, SSTEA, MASOHRT BEMGH OR Aty GTHER ASPECT OF e PROJECT. UNLESS % Egégan Bad
SPECHICALLY STATED W THESE DOGUNEMTS, g |ugk EE9§§;
L | 828 B
& | PE52udgnod
75°~0" STEEL DMENSION Z |y é“wEg Fi
JOBSITE 7 FIELD CONDITIONS NOTES: E Egggggg g
g
BULDING WANVEATURER ASSUUES, - RESPONBBLITY FOR AKY LOADS Y0 STRUCIURE HOT INDICATED o ?n;BJgB %g
AT THE TE OF BURCHASE, ANY MICTUTONS 10 RUCTURKL SYSTEM, REWOVAL OF ANY 2 |pRezE 25
o AT OF ST COpETRUCHON, IATERS DA, oADs 10T BE DOHE KEY PLAN wOE E,_Egg
unm e DTN OF REGRTERED ARCHITECT, CAIL OR STRUGTURAL ENGINEER. s §E2§¥u§§§,
ALL CONCRETE AND MASOHRY CONSTRUCTION WUST BE FLAT, LEVEL AND SQUARE PER THE SLAH PUN scale— 1/68 = 1'-0° E 4] it ~§BE|JQ
DIMENSIONS HEREH. @ Eﬁﬁﬁgéuﬁé
ALL JODSTE DIVENSIONS AND CONDMONS SHALL BE IELD VERFIED BEFGRE ERECNION OF BURDNG w E“%zﬁ %Qs
STRUCTURE. g 2 a2
E
OMISSIONS, CONFLIGTS ANO DISCREPANGIES SHALL BE REPORTED TO THE BUILDIKG MANUFACTURER e
BEFORE. PROGERNIHG WHH PROJECT WORK. .
AL TRIPGRATY SUPPORTS SUCH AS GUYS, BRACES, FALSEWORK, GRIBIING, WINGERACES OR OTHER
mﬂ;?cg’ewmigarm THE BULDING FRECTICH ARE TO BE DETERWHED BY AND SUPPLIED BY 75'-3" SLAB DIMENSION
BUILDING MANUFACTURER HAS AADE A COMMITUENT 10 MANUFACTURE OUALITY BULDING COMPONENTS . 11y 1 .
THAT CAN BE SAELY ERECTED. JOR SITE SAFENY INSTRUGTION, SAFETY EQUIPMENT ANG CONOMIONS ARE N P LT R P Y
THE RESPONSIBTY OF THE BULDER/CONTRACIOR, = , , 2" % 5 /2" =
AL COMPONENIS SHIPPED SHALL BE THOROUGHLY INSPECTED ANQ ACCOUNTED FOR AT THE TIME OF - EDGE NOTCH - -
., AL UATERINL SHORTAGES OR DEFECTS WUST SE REPORTED WITHIR FIWE (5) WORKING DAYS w M)
OF MATERWL DELWVERY TO THE SULDING WANUFAGTURER, . o v r ) | o
THE DAPHRAGH SUPPORT OF THE INTERIOR PARTITION FANELS CONTRIBUTE 1O THE STABILITY OF Tri - 1 ! ! ! | 1 " [ il — =
SUILDING BY FRAMSFERDNG LATERAL LOWDS 30 VERTICAL RESISTIHG WEMBERS. ANY MOMIFICATION OR 1 H i H i 5 i Dlglta y
ONAUTHORIZED CURTNG OF INTERIOR PARTIDON PAKELS IS EXPRESSLY FROHIBIED BY THE BUILDING 8 H \ H H 3 i o 0
MANUFACTURER, ‘E, ! ! ! ! . é sig ned by S, M, (= ~+
ES b1 127 X 1 12 | ) | [NV R a—— & S M HAEER) v =
INSTALLATION NOTES: 2 Wil Eoee nocH | : : 1wl “ece wofch 3 AKITER NAEEM Slo &is
CUTTHG OF STRUCTURAL, SHEETNG AND TRAUS FOR SPUICE AMD FHAL FITTIMG OF COMPOKENTS I 1 1 1 : 1=
g 0F st ! N ! ! ! ! N Lsansa o, AKHTER % —
. . 40143 -
AL ROOF PANEL 1APS SHALL OE SEALED WIT 3/6" {LHIMUM) WDTH UASTIC TAPE A5 PROVOED FOR i &3 ! ! ! ! '@ 7 Date; Al x b
PRASTE, ik cet PROMLE FGMS CLOSURES. AY EAVE, WALL AND RIDGE COMGTIONS AS PROVGED o ! ! ! ! o . Ol o
FOR PROJECT WUST BE MSTALLED AS SHOWN HERER: N i i i i p- 2025 06 20, o Olo
AL PAKELS A0 WAL TRWS, AT ITEROR AUD EXTERIOS, ATE 1O BE SET mnwgmgm - — 1 ! (s ﬂ ]
ABONE COICREIE SURTACES. AlID AT Y LOCATIONS. WHCH Y 8% SURJECTER ,
1o ConcReT COLOR SFLECTIONS ) . €3 o 12 k1 L ' , 00:34:43 -05'00 <€
. : GHYAHIZER I —— -7 J— =
LAP ALL FLASHINGS 2* LEMIMUM AND SEML AS REQRIMED FOR WATER TGMIHESS mels“g: o El ~ poOR EDGE NATCH = e -
ALOW 1/4" TOLERAKCE AT EACH EMD FOR HEADEHS AND GIRTS. WALL PANELS: LIGHL SEONE. e a 75'—3" SLAB DIMENSION L -
PARTITION PAHELS: GMYAIWME . )
RAKE TRM: POLAR NAEEM AKHTER, P.E. & <k
EAVE TRIV: BORaR
DRAWING INDEX GUTIER TRM: 1/A SLAB PLAN 10404 W 154th Streel
LEAD SHEET, GENERAL WOTES, SCHEDULES, XEY PLAM, SLAB PLAN DOWNSPOUTS TRM: /A Overlond Park, K8 66221
ELEVATIGNS, FLOOR_PLAN FRAMED OPENING TRIM: SOLAR . _ " e y_g” 913-665-2015
| S[FRAMING PLAN, PARTITION PLAN, ROOF PLAN GORNER TAM: OGHL STORE scale— 1/87 =10 saflonasem@ool.com
DETALS wuLLoH TR UgHT stone
5 {DETALS Bl M —
6 {OETALS WEAD RM: POLAR . .
PURLIN ABBREVIATIONS B s mewors e som one
CLOSURE {SIE DETALS AND MSTALLATON GUH0E) -
(PE)  — Z&2SI6R 2 1/T X B X 2 1/2 K t6GA Z€E ~  ROOF PURLN (s sk cloms cacom on i N
(1¢) DUTSIDE CLOSURES MHCLUDID FOR AAKE. m U) rla
5] DUTSOE CLOSURES HCLOED FOR ROGH » 0O
STANDARD ABBREVIATIONS FASTENER ABBREVIATIONS i S RarT 0 O R g
FHISHED FLOOR FOOT OR FEET AEGD REQUIRED . % 2
o e e Foorer NENF REnFoRCED (F1) - 3/8" X 3" COMC. SCREW ANCHOR ~ BASE TO SLAB COBHECTIONS . y z ;1 |
i U S o Bt oot CPERMa (g’ -2 : | SELF-DRILLNG TEK (PLID) * STRUGTURAL STEEL CONNECTIONS 4" STRUCTURE ABBREVIATIONS SHEETING ABBREVIATIONS TRIM_ABBREVIATIONS ) S uo
BOT  BOTOM GENERAL CONTRACTOR  5F SGUAAE FOOTAGE (F2) - 12 X 1 SELF-DARLIKG TEK {PLTD) = PARTIFON SHEETING (88 - B4218Z 4 X 2 % 160A ANGLE - FLOOR BASE ANGLE (W) - 296Gk M-LOC WAL PANEL (FR}  — 7/67 ROLL MASTC (M) - R PANEL IWSID CORNER TRV 3 g "
CEMTERLINE GRHD  GROUNG S sl (F4y - 32 X 2 SELF-ORILLKG TER {PLTD) * PARTON ANGLE CONHECTIONS (B0) ~ L4Z516Z 4 1/8 X % 7/B X 1664 CHANNEL - FLOOR BASE CHANKEL —l |
| clg  CEwng ae SOUARE (F5) =12 X 1 1/4 WASHER TEK (PTD) — EXTERIOR WALL SHEETNG " ! / s (R} - 23GA R-LOC WALL PANEL (B) - BASE TRM (4} — DOOR Jiud TAM : = pw
1 COLUMN GWB  GYPSUM WALL BOASD ST STANDARD (C4) ~ C4216R & X T X 16GA CEE = 4T coLuNH {PLY =~ 29GA PAREL—-LOC WALL PANFL {CUN)  ~ R PANEL INSIDE FOAM CLOSURE  (UC) — DOOR JAUE COVER TRkt =]
: (FE) = 1Z X 1 1/4 WASHER ZAC (FTD){PLID) — ROOF SHEETING . JwER
| Cotic  CONCRETE HORIZ HORIZONTAL ST (C425) - C42514R 4 X 2 1/2 X 14Gh CEE - 4" COLUMH ’ 9 g
} IR CENTE% IHT i?:gﬁﬂm {% }g; g ggﬂéam (FN) =12 X 1 1/4 WASHER TEX (PTD) ~ EXIEROR TRIY DRRLER (C435) - G43514R 4 X 3 1/2 X T4GA CEE 4" columH (RA)  — ZEGA PER ROOF PANEL (CLOUT) = R PANEL QUTSIDE FOAM CI.‘OSURE (¢} — DOOR LALION COVER TRIM m ".,‘:
| o BUL e L o o (FB) =12 X 7/8 WASHER TIX (PTD} - EXTEROR WAL PRHEL LAP (OH) — CHZIER # X 2 X 166A CEE ~ DOOR HEAD (RW) - Z60A PGR WALL PANEL (M) - DOOR CORNER MULLIN TR (0CB) - OUTSIDE CORNER BOX g
| SA DIWERR HFG  IHFORUATION TON  TOP OF WALL (F9) 32 X 7/8 WASHER ZAC (PID){PLID} -~ ROOF PANEL LAP {OV) - CA3STER 4 X 3 12 X 180h CEE ~ DOOR 4AMB eag) - f;“* cm;nni.;oc S8R {Bk) - DOWHSPOUT Wit Kick ouT {0U) - R PANEL QUTSIDE CORNER TRW
| o M M T Tt bea (F10) — 12 X 7/8 WASHER TEK (F7D) - EXTERICR TR LAP (EC) — UA216R 4 1/8 X 2 3/8 X 16GA CHANHEL ~ EAVE CHANHEL (o2 - A i 0 SR {DS5) - DOWNSPOUT STRAP (FB) - FEAK BOX
‘? o u:Nsc 5};‘2‘”" cous Srng m.{ass HOTED OTRERWISE {FI1) —1/8 POP RNVET ~ EXTERIOR TR égz; - i:‘:xﬂﬂa"ﬁ:b* 3 X 160h STRUT - z&mu‘;g AT ROOF PANEL (€F} —  EAYE FLASHING (REND) ~ RAXE TRIM END CAP
‘ EA ok FLLAN FI3) =12 % 1 1/4 WASHER TEK (PTD; - WTERIDY WALL SHEETING - IFACTUI - FRC)  — FORUED RIGGE CAP - Th
| g Dbunon - T Ve oy / {rm (6) - CARIGR 4 K 2 X 1504 CEE - GRr ) (Ar) - RAKE Th
E S0sT  EXSTING NIC  HOT IN COHTRACT e VERR b anD {F13) =12 X 1 1/4 WASHER TEK {PTD) ~ BTERIOR TRIY DRILER ) _ BeiGR 4 X 5 % 16k Tl vo8 (6GB)  ~ GUTTER EWD TP M) - ROGF TE W TR WG #25-80258-CL1
' EXPANSION HOT TO SCALE WO WITHO - _ - AUGLE - AL R
br BaERe HA  MOT APPUCABLE W WEGHE AFS4} ~12 X 7/8 WASHER TEK (P1D) MATRIOR WALL PANEL LAR (HR) — C4216R 4 X 2 X 1BGA CEE ~ DOOR HEAD REWFORCEWEMT (GEOCEL) - SEALANT (IR) -~ ROCF STEP TRANSTON FLASHING
Brs  DIERIOR (SULATION MO NULIBER {F14) — 12 X 2/8 WASHER TEK {PTD})(PLTD) — WAERIOR TRW LAP (R) - C&IS14R 6 X 2 1/2 X 140A CEE — RAFTER (Gs) ~ GUTTER HANGER SIRAP {UN) - FLAT RIDGE CAP
cos LN PlasH SrSTeM ° AL {F12) = 1/4°<14 % 17 SOS W/ WASHER FA(PLTD) - GL (Aipy o ()~ CIZ4I6R 12 K & X 16GA CEE ~ DOOR WULLON ) - GuTiER (457) ~ 40Z TOUCH UP SPRAY PAINT Sheet
B0 FURMISHED B¢ CTHERS on OFPOSITE HAKD (F18) — 1/4"—14 X 1 1/47 SDS ZAC W/WASHER FIE(PTD)(PLTD) - “CL* ROOF DRILEER (WC) - H5218R § X 2 X 2" LONG 16CA ANGLE —  MIHF CUP (He) - DOOR HEAD COVER TruM
N F gre  pRPOSTIE (FI8) - 14 X 1/6° $DS 2AC W/ WASHER #5{FTDNPLID) ~ CL" ADGF LP (PA) ~ BA21IBR 4 X 2 K 1EGA ANGLE —  PARTION ANGLE (WE) -~ DOGR HEAD TRIM
PO S, ETH A (F20) ~ 1/4°-14 X 1 1/4” 5DS ZAC W/WASHER JE(PTDPLTD) ~ "CL° TRM DRRLER (RA) - B4216R 4 X 2 X 160Kk ANGLE -~ RAKE AHGLE (M) - WGH EAVE TRIM
Fo9  FACE OF STEEL REF HEFEREWGE (F21) - 14 X 7/8° SOS ZAC W/WASHER FHFD){PLID} ~ LT TR AP (RS} - EGAMGLE 4 X 6 X 3 X I5GA STRUT — rpGE STRUT Of 6




( ] . 1 ‘ ] 1BO¥—0LE—-90L g
Vg A8 H04 d3NSs! SinNiHd . mﬁzmumnwmm%wwmﬁmwxmmmhﬁsmﬁwﬁﬁm nP/O w @.V A E § ODL,Q U C< oo looesor 3 o
Sz/+0/90| QC NOUONYLSNGD 3HL AONJ NOISSIFNI NILLM InOMM SD3MCHd atl -
S JONHISNGD OL C35N 33 LON AV SONWYWHO . IMH NOJYN S56Z 2 o
38301 RUBHOY] AUDSRIIS St SNOSH3J QAZROHLAVNN N Z O Cu(Q O%_ & 2 —
0L SONMYHO 25IHL 40 FUNGOI0SI 3HL LLA3NGE D m =3 5
SL H04 0350 3§ AIND AVA SONMWEG 3S3HL NI w O Z _ Ql__ ; =
GINVINGD NOLVAHOAN! TYLNIOHNDD GNY ‘CR0T TG i_ i. O _x ¥ m N X ON &
INUSNIS HBENLOVANNYA ONIGHNE 3rk 30 ALREJONd m w gl
NS OGNV 3105 IHL 34V SONMVEO 3SIHL — 0 0¥w= L = N
Tozémﬁz_ AMYLAHAOH] ONY ._shzwamzou_ 103rodd | L 2
[ T s o
ET o
5. 2
) <L QIO
(%5} N AN ]
—_— M Lid ”_.0 ﬂ
48] = .- iny
2 €I .mw ._”% m
Oo<0ONO

_ O _ =
.8-.0t and Rt Nt O
2 : B
/B0 v wem bt ) A
Lid ZiL el v
= 5/ s-oumd z
I+ 1 ] P ] .
z i ) Liiis . |2 e NOISNNID 13315 .0-.02
..w M N 0_ M SRR AT/ )] E —
glg A B & ¥E o562
Sl —ie A L= LL(m) i O,
il sl Tk I —l% 1 | 1
i 2 2/ om0 (IR L0-5(.0-5 | .L~&[.0-5
LA i) A U -
2=, LL{Ma) —it /T B o) 1
: L = T
3 b - : b - A/e £-sL0v)
i @ ? i T T kY
X e ! : =
g o ! g—,01 ; 3
e - -, o m | | 2
R )
o 2
m . [
5 - -
: 1k
& L T "
E TTT RS = T i
m 3 fm ,m _m g
ik _ coe
gl -0t e .
m = { 8 W i _ 5
_ m /e Sooung) r : _ in
= AT B i) T ..! . 1]
B o . =
; 5 N
/5 B z -Ill.rhlllrhlll.r..,lli SN m A mv
/S a—oua) Wv . Tﬁ Fm. _m ] o ] -
o] % i | = L '
/T B L) H ES 3 f _ | 1] ) & z 0 -m
N = Cufel IS B ®
ER S L) o T n e : - K o -~
g v : I NN N | PN Y B =/ R
/0 - o) @ - g i i _ r I O i
= W - , e
) : ﬂm e By 9 ®
O /e B i) = | | I _ s o O -
— ') ™~ A S~ |
— /% ) ~ .ﬂw\ Tm\ _ _W,, 3 o
< — b Lif o
v /T gD} A - aiLT\T \L_zis E .
/5 - ovime} — , ﬁ _ >
& g | o | 4l -
m — m /T - o} L ] ™ “
g . g —I. | s
o] N &S 0
=) . | !
M 5 W /2 ot Ll | ¥ lll.rlllluulll.r)IIITl
- - 2 T F %
m — " m /c B 0ui) " z 3 & & G
= - = B % . . .
n w0 Bl e g i) R M.N : ..E,!. ||Ll.|.|_|.|..| ]
2 O % <5 R 5
4 O in e ot I f ﬁ i 1. o
Lide E7 ST e i | _ <
- - | ! 2
o /T 8- o) o | i | .% £
| A ° L/E £ 51(vE)
@ /T Bt (e} w ﬂ“
W/ a- ol
[
l Ave 0-.0C
/T B- 0L |
HT nn.n_.csmum NOISNAWIG T3S ,0-.00
/5 B0t )
/T 8- 000n)
2/t s-onim)
2T o0
- - T e B
g S

.8—.01




[ 3Lvg Ag Y03 Q3NSSI SLNR GNAYID HOJN CINSML3Y 36 1SOM ST1e0 ‘Jodgud Uy 190¥—01$—204 m
S2/vo/0] 00 | oloreiEne || B R Mo itk e e £0L8y 1A -04lv YUy wsorve w3 || ©
DN LMUSNGD QL 0351 38 LON AYN SDONIMYNC .
I5HL d_QUDMLS Gt SNOSASA QIZHOHLIWNA M Z O ::{Q OIM AMH NODYH £SSL & )]
OL SONIMYHO 3STHL 30 JUNSOTIDSIC JHL “LLi3NE8 m @ ~—
SU H04 CISN 38 KNG At SONUAYED JS3HL NI moz_al—mzm ; e
TANMANGD NOUYMNOJNI TRINKILNGD ONY 0303 IAEd — VA x w0 =
AWSNIS. MRV SNTING 3. 40 AHdoNd S 8—01 G/ 0¢ Fd
INSTIONT ONW T105 JHL Y SONIAVEG 3S2ML — ooam—.d .h =[]
- (&)
NOLYWHOANI ANVLSNAO¥d ONY MINZCLNGD 103rodd ] L £
oS e}
g =]
wZ T
< FEEa T >~= LN
= D
==w oM
] e A
= A AN oa
NGIGNIG 13405 0,02 &2 m 503
000N
0-5] .05 [.0-5[.0~8 o
Sz ¢
g R
=¥ i
—a-. 2 0n) HA E .
T
S . A S
5 z NP O B
i I ER R N
w = £z £ 2
2 g i
. gk ok [ [B
c i : " -
it i By = 7
o 5 mm 3 H m
B 1 | 4
i 5 +—— - - =
I% @ b R
g g <=
= g N 2 H —iy
a Z SO A &
NOISNIWIG T3S .0-,0Z ? I e X Iz n = o e
m w z R ) T | w >
w7 B - E » -
Av8 .0-.0Z mm - m . mu % W ._u
1 { L i N
=Y TN B e m_ @ —4 ! S I
. o | G o 2
.= £ He ¥ e -
L3 O Eys 5 A k. E OB
SlEw B By gdx 3 I 3 = = |3
2 By Hg @4 A H gz (€ £ =
2 |z2g lg8 BE = ) =2 L g
Ifs 2—ouicTea) . - - Z/b Lol £
) | | y ]
EN G o] _ _ | = R
| = (=]
-t} | | ! = 7 ] o
I I |- > : S T S R
B B e ki &3 S = b i n =
| P esowee T - < E O F Ik
wt-H2) : ; Rzl = 3 . = & B
A - ovlsTyd) trm == — = ~
I3 i
nam#lol _.m ir u |
g
ZAL L= pilETed) l.m.\|l.m.|| - e
| 15 o S
G-pz) i B T 2
Lo 3 > =
244 (- ouETat T T 5 A
! f e co 0§
L) | ; Ty o
Bl cousms “:i " E =) z s un,v
g N i ,Ww | e m m -
= - I P . E [
2| 2 st ek M O . NISRANT 13215 .0-07 !
o e | 1= £ a5 4 =z~
= i ; [ @ i P = -
| & -odsoe) + t £ 5 N M r
i i : i b ogi <SS T
B -l ! | | r=r' &9 <2 =
. : : . -
Bl 2 c-guismor e [ ol =
] i -z @ N REETERNN
o z : Rl L QISNINID O
2 iz i BT IS @
EL o] =4 - =5
'z | 2 Av8 .0-,0C
] mm i ;
E2 WX i : .ﬂ
) _ i _ T ez ﬂ @ E B
T/ emmteea) . ; u.... EX RN Iyt —fis i .\_
S
8- i | T 1041
I
X/ 2= grigTra) E—HT L
! i3 - ()
o-¥T) | i | T A
: : : = L
Z/ e-auETem) e 1 m H 13
25 ol i b -
L k 2 _S-.L (TN
ERWEN T .ul,_r ‘lHn ”4 |m W “W O. XY i3 .nw
1383873 3 g
g2 & 3
2 L
6 0-0t z . Spinit - z| <
2 o o 2 al 2
NOSNIMG 13315 L0-.02 g = E g 8 [ "
B : g
) 5 =
u I - .
I . @ k4 m Zl
ol = Mz = o Ol
° & & i S I =
i 1 Lo HER Wl =T
~ | T b 1 r~ I
~ ~<, LB S
B ¥ &
! 18
a A o
o
0.
L1 0}
q 3
p
111
a [ 1)
T &® |
& B B
19 00T
NQISN3NIQ 13ALS ,0-.0




€

SLAB DiM.

11/2"

STEEL DIM.

1 1/2"

EAVE HT,

g
Si
1

SN
//:\\//,

@A

2

NG

1 WALL EDGE SLAB NOTCH
11/2" X 1 1/2" NOTCH

STEEL DIM. &I STEEL DIM.

(C) COLUMN

(F2) #12 X 1" sD
{2) PER COLUMN N

(FC} FLOOR CLIP

9 _¢EF
P a .
P
. . .
"

L]

o

Jts (RL E
PARTITION w
PAMEL %

woron
(F1} CONC. ANCHOR

(1) PER (FC)

| m_“__¢‘F.F.

@ COLUMN FLOOR BASE CLIP

DCOR OPENING HT.

1
e

SLAB DIM,

1 1/2" ¢

STEEL DIM.

g 1/2"

EavE HT.

©

LYY

DOOR _EDGE SLAB NOTCH

{F10) #12 % 7/8” SD

(OU) OUTSIDE
CORNER TRIM

___

STEEL DIM.

(RW) WALL PANEL

24" O.C, l
|

9 /2" X 1 1/2" NOTCH

STEEL DIM.

-

SLAB EDGE BELOW

BELOW
|G
&,

SLAB EDG
AN

T~
BASE ANGLE B

/

BASE ANGLE BELGW
®

M- (C) COLUMN

@ OUTSIDE CORNER

lﬁﬂ_.éf'?'

(RW) WALL PANEL —

(BA) BASE ANGLE

(2) PER COLUMN

(F2) #12 % 1" so—;&
(BT) BASE TRIM —-—faJ

¢ F.F.

SLAB DIM,
taser STEEL DIM.

: -J'r— (C) COLUMN

A T .
P T
(. . W
| | ~ >
[ - 3
[ -

N

al ,
a4 g 1/%" ¢ <

(Ft) CONC. ANCHOR —
&" FROM EACH END
AND 3’0" 0.C.

—

@ WALL EDGE BASE ANGLE

) ROLL--UP DGOR AROVE

{DJ) DOOR JAME —,

N

(PL) PARTITION PANEL

(PA) PARTITION ANGLE
(F2) #12 % 3" SD

{C) CoLuMN

x

DOCR OPEMING

B SLAB DIM.
7
1172 i STEEL DIM.
MC) MULLION ———emrd
) COVER =t (M} MULLION )
- &
5 " o w
= (F2) #12 X 1" sD o W
T  {4) PER COLUMN - &5
(BC) BASE W—-\. . FF.
CHANNEL = B C _é'

(F1) CONC. ANCHOR =]
(2) PER (BC)

@ DOOR EDGE BASE

" ROLL-UP DOOR ABOVE

7~ {DJ) DOOR JAMB

CONC. STER BELOW \
-
L 3

jad

A\

L
SLA8 EDGE BELOW /

STEEL DIM.

{JC) JAMB COVER — A
(UA) JAMB TRIM

3-0" NT.5.

3'-0" NTS.

D.0. WIDTH

M (F7) #12 X 1 1/4" SD
24" 0.C.
——— (RW) WALL PANEL

0.0, WIDTH

STEEL DIM.

.
|
|
sbo”[ N.T.S.
t
|
]

STEEL DM,

@ 72" R—PANEL DOOR MULLION

-/ Digitally signed
Y% by S.M. NAEEM
" :AKHTER
of Date:

- -2025.06.20
00:36:23 -05'00/

5 M NAEEM
AKHTER

License No.
40143

DD ||06./04 /25
DATE

BY

CONSTRUCTION
PRINTS {SSUED FCR

|

THESE DRAWINGS ARE THE SOLE ARD EXCLUSVE
PROPERTY OF THE BUILDING MANUFACTURER, SENSITIVE,
N THESE DRAWINGS MAY ONLY BE USED FOR M5
BENEFTT. THE DISCLOSURE OF THESE DRAWINGS TO
UNAUTHORIZED PERSONS IS STRICTLY PROMIBITED. THESE
DRAWINGS MAY NOT BE USED TO CONSTRUCT LIKE
PROJECTS WITHOUT WRITTEN PERMISSICN FROM THE
BUALDING MANUFACTURER. THIS DOCUMENT AND ALL
CORIES MUST BE RETURNED UPOM DEMAND,

[CONFlDENTlAL AND PROPRIETARY INFORMAT}ON]
FRVILEGED, AND CONFIDENTIAL INFORMATION CONTAINED

48103

M

PROJECT:
20 x 75 x 10-8 (LS)
LOCATION:

Ann Arbor,

7553 MACON HWY
706-310—~4081

WATKINSVILLE, GA 30877

ruSteel
BUILDINGS

f———
Sheet

T

4 of 6




(RW) WALL PANEL

RO, ~UP BOGR ABOVE

(BJ) DOOR JAMB
(F2) #12X1'39—\\

(€) COLUMN m\

&

CONC. §TEP BELOW \k{

e

BASE ANGLE BELOW

(F7) #12 X 1 1/4" S0 s @ %
24" 0.C. ) -

STEEL DiM.

€

STEEL DIM. STEEL DIM.

A
SLAH EDGE BELOW
(JC} JAMB COVER Ly
(JA) JAMB TRIM

(RW) WALL PANEL -~

(F7) #12 X 1 1/4" Si)——/
24" 0.C.
(OU) OUTSIDE CORNER TRIM

0.0, WIDTH 30"

STEEL DIM.

@ R = .

oy

SLAB EQGE HELOW

" THASE ANGLE BELOW

®

vi

STEEL DiM.

PARTITION
ANGLE

8 DOOR _JAMB — 36" CORNER

STEEL DIM. |  STEEL DIM,
|
1

(RL) PARTITION PANEL
/- (C) COLUMN
\‘(FZ) #12 X 1" sD

STEEL DIM

@

STEEL DiM.

COLUMN CLIP

12

/ {C425) COLUMN
") (F2) #12 % 1" 5D

9 WALL WITH PARTITION

STEEL DIM.

A
(RW) WALL PANEL —t- ‘ﬁ—}-RDLL—UP DOOR
P/

(F2} #12 X 1" SD
(2) PER LOCATION

7 (MC} MINI-CLIP
(CH) DOOR HEAD

»
L]
2

(HE) HEAD TRIM —=

DOCR OPENING HEIGHT

FASTEN HEAD THRIM W7
{(2) (F7) PER PIECE

FASTEN WALL PANEL \% (HC) HEAD COVER

AT 12" O.C Y,
(F7) #12 X 1 1/4" sD (D9) DOOR JAME
(2) PER LOCATION @ CLIP
FASTEN TRIM AT 24" O.C.
—!
SEEh :
o
=
AFF
< a Y

DOOR_HEAD
13

1

(RW) WALL PANEL

(RL) PARTITION PANEL

{C425)C435) COLUMN /

STEEL DM, |
+

(RW) WALL PANEL

STEEL DiM.

STEEL DIM.

PERIM. ANGLE BELCW,

5TAE LUGE BELOW

WALL

€y

@

STEEL DiM

|
[
|
|
|
|

(F9) #12 X 7/8" ZAC
12" 0.C

(CLOUT) CLOSURE
(BTRY CONT, MASTIC

TOP AND BOTTOM
OF FOAM CLOSURE

(EC) EAVE CHANNEL
(RR) ROOF PANEL

T.0.S. ]
K i
1]l
|‘"'\L (F2) #12 X 1" sD
(HI} HIGH SIDE el |
EAVE TRIM || MNi—CLIP AT (EC) SPLICE
(F10) #12 X 71/253 0scc> L (F REQUIRED
(ELOUT) CLOSURE | =t (C) COLUMN
(RW) WALL PANEL ——t1|  §
[
HIGH EAVE

14

.| Digitally signed
by S. M. NAEEM
‘AKHTER

00:36:46 -05'00"

STEEL DIM.

(Rw)

O
e

\ {MC)

GIRT LOCATION
(C/L OF PANEL HT.)

I R

WALL PANEL

#12 % 1" 5D

(F2)
/— {(4) PER LOCATION

{G) GIRT

MINI—CLIP

e {€) GOLUMN

@ TYPICAL GIRT

CONTINUQUS MASTIC

AT TOP A
OF iNSIDI

ERECTOR NOIE:
PAHELS WITH DRIP-X CONDENSATION COMRDL MUST
BE FPROFERLY PREPARED TO PREVENT WHSTL
FROM WICKING FROM THE QUTSIDE. [T IS CRmCAL
THAT THE DRIP=X AT THE EXPOSED END OF THE
PANEL AND PANEL TO PANEL END LAPS, BE FU3

WITH A HEAT GUN. HOLD HEAT GUN APPROXIMATELY
1™ AWAY FROM PANEL, KEEP IN CONSTANT MOTION
TO PREVENT OVERHEAYING, AHD OO HOT COMPLETELY
WELF THE DRIP--X.

STEEL DIM

ND BOTTOM
€ CLOSURE

DETAIL_AT CLOSURE

PITCHED EAVE CHANHEL WLl
HAVE A SWALL PUNCH AT EACH
END TO INOICATE LOW SIHDE.

31/2"

(FB) §#12 X 1 1/4" ZAC
{EC) EAVE CHANNEL
(RR) ROOF PAMEL

(F2) #12 X 1" sp

(F7) #12 % 1 1/4" D
(2) PER CAVE TRIM
MINI-CLIP AT {EC) SPLICE
IF REQUIRED

(C) COLUMN

LOW EAVE

(CLIN) CLOSURE

(BTR} CONT. MASTIC
TOP _AND BOTTOM
OF FOAM CLOSURE

L $T.O.S.

(LEF} EAVE TRIM

{RW) WALL PANEL

15

--Date:2025.06.20

o |i06,/04/25
DATE

BY

CONSTRUCTION
PRINTS ISSUED FOR

JL

THESE DRAWINGS ARE THE SOLE AND EXCLUSIVE
PROPERTY OF THE BUILDING MANUFACTURER, SENSITIVE,
N THESE DRAWINGS MAY ONLY BE USED FOR MS
BENEFIT. THE DISCLOSURE OF THESE DRAWINGS TO
UNAUTHORIZED PERSONS IS5 STRICTLY PROHIBITED. THESE
DRAWINGS MAY NOT BE USED TO CONSTRUCY LIKE
PROJECTS WITHQUT WRITTEN PERMISSION FROM THE
BUILDING MANUFACTURER. THIS DOCUMENT AND ALL
COPIES MUST BE RETURNED UPON DEMAND

PRIVILEGED, AND CONFIDENTIAL {NFORMATION CONTAINED

!CONFIDENT]AL AND PROPRIETARY INFORMATiONl

48103

MI

PROJECT:
20 x 75 x 10-8 (LS)

LOCATION:

Ann Arbor,

7853 MACON HWY

WATKINSVILLE, GA 30877
706—-310—-4081

ruSteel

BUILDINGS

Sheet

5 of B




STEEL DIM \ STEEL DIM

(P8) 6" PURLIN—/‘/
(F2) #12 % 1" $D

(C) COLUMN

6" PURLIN LAP SIDE
®

STEEL DIM STEEL DM

(F6Y #12 X 1 1/4" ZAC
(RR) ROOF PANEL

(F2) #i2 X 1" SD

(P8) 6" PURLIN7
(P8) 6" PURLIN 4——(©) COLUMN

@ 6" PURLIN LAP SECTION

3'—0" COVERAGE

(F9) #12 X 7/B" WASHER ZAC
20" 0.C. MAX

! (FB) #12 X 1 /4" WASHER ZAC

(BTR) CONT. MASTIC
©® PANEL LAP

o

(6) PER EAVE/RIDGE ~ PER SHEET

a PN PUAAN™
! | 1 ¥ 1

R—-PANEL ROOF
EAVE AND RIDGE FASTENING

e AL

INTER.OR
ROOF PANEL LAP DETAIL
WVIEW AT LOW EAVE

3'-0" COVERAGE

(BTR) CONT. MASTIC
@ PANEL LAP

|
(F9) #12 X 7/8" WASHER ZAC
20" 0.C. MAX
. o V0

(Fe) #12 % 1 1/4" WASHER ZAC
{3) PER PURLIN - PER SHEET

5 AN e
1 f T

R=PANEL ROQOF
FURLIN FASTENING

(FB) #12 X 7/8" WASHER TEK
20" 0.C. MAX

(FB) #12 X 7/8" WASHER TEK
20" 0.C. MAX

(F9y #12 X 7/8" ZaK
12" 0.C.
{RAY RAKE ANGLE

T.O.S.¢ o

(RT) RAKE TRIM

(F10) #12 X 7/8" SD
12" 0.C.

{CLOUT) CLOSURE
(RW) WALL PANEL

RAKE AT 6”—PURLIN
@

(BTR) CONT. MASTIC

(RR) ROOF PANEL
/A ~

\\— (P6) 6" PURLIN
(F2) #12 X 1" 8D

{C) COLUMN

STEEL DIM
|
|
|

| Digitally signed

PO MR
%M NAEEM by S. M. NAEEM
A AKHTER AKHTER
Ne\ i of Date:
¥ 2025.06.20

:::::::

00:37:09 -05'00'

........ — ENNEN VAN
+ *
* 4
* 4
ERECTOR NOTE: r4
PARTITION PANELS HAVE BEEN
SUPPLIED TO REACH ROOF LINE.
NOTCH TOP PARTITION PANEL TO
MATCH ROOF LINE AND CLEAR
PURLIN LEG AS NEEDED TO
CLOSE IN THE UNIT. "
—_— g
{ l HTEROR \ Ec: }'i:
W J Bl -
[
PANEL LAP DETAIL
. I COLUMN
$ A
(F2) #12 % 1"
o y'—o" y'g" SD TEK (PLTD)
r i | (F5) f12 % 1 1/4” WASHER TEK Y (4) PER GOLUMN
{3) PER GIRT — PER SHEET J PER SHEET
! 30" COVERAGE ] l
i 1 = i
[¥T}
R—PANEL WALL 31 %
[§)
EAVE AND BASE FASTENING .
.I T
(]
: : = IW i
-0 1'-0 1'-0 il T N

| 3 ~0" COVERAGE ‘
1

R=PANEL WALL
GIRT AND DOOR HEAD FASTENING

(F&) #12 % 1 1/4" WASHER TEK
(3) PER GIRT - PER SHEET

R—-PANEL PARTITION
SHEET FASTENING LAYOUT

DD 1|06/04/25
DATE

BY

CONSTRUCTION
PRINTS ISSUED FOR

|

THESE DRAWINGS ARE THE SOLE AND EXCLUSWE
PROPERTY OF THE BUILDING MANUFACTURER, SENSTHVE,
DRAWINGS MAY NOT BE USED TO CONSTRUCT LIKE
PROJECTS WITHOUT WRITTEN PERMISSION FROM THE
BULDING MANUFACTURER. THIS DOCUMENT AND ALL
COPIES MUST BE RETURNED UPON DEMAND,

BENEFIT. THE DISCLOSURE OF THESE DRAWINGS TO

IN THESE DRAWINGS MAY QMUY BE USED FOR TS
UNAUTHORIZED PERSONS IS STRICTLY PROHISBAED. THESE

!CON?‘IDENT!AL AND PROPRIETARY INFORMATIDN]
PRIVLEGED, AND CONFIDENTIAL INFORMATION CONTAINED

!

48103

M

PROJECT:
20 x 75 x 10-8 (LS)

LOCATION:

Ann Arbor,

7553 MACON HWY

WATKINSVILLE, GA 30677
7063104081

BUILDINGS

TruSteel

Sheet

6 of B




